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o = B e o 7 A HI(%)
o A R IR 207,475,619
- B R EY]
w C ol BAE() -
D A A 207,475,619
[ I H L 2y 96,047,656
o F ZH® & 2 H| 6,915,431 =M & 2 H|x 7.20%
H G P A 102,963,087 |
H Az F oy 1,564,623 |
&= I MIESEE 3,912,597 & 2 H| x 3.80%
J 18EYE 906,075 = 2 H| x 0.88%
2z K AzEE=E 1,632,810 = 2H| x 1.70%
L LOIX7|QUHE 106,949 HZEHE x 6.55%
At M dEEYE 2,391,586 E 2 H| x 2.49%
N AQIOT A A H| 7,175,290 (N2 H|+ X1 H = 2H)x 2 8)x1.2H] 1.97%
gl ® YutHS 5,979,408 (FEH|+ X ™ 2H|)xQ 8 1.97%
(OL== o= 3 LI g 7,485,337 (I 2H[+ 2 . FH| + S XY H)x 2 S
7t OLR= 1 =D -l 2 7,175,290 (R =2 H[+Z]H . FH|)x2 &)x1.24}
o ok ® 2 a| H| 1,037,298 (RHZ H| + &R i S H| + AFS Z4H|)x 0.34%
P EE R 1,525,439 (RHZ H| + X% i S H| + A= Z4H])x 0.50%
Q E|Z 2R IH| 2,209,096 EH I SH| x 2.30%
R 7l EF # H| 22,351,586 (FH 2 H| + = S H|)x 7.20%
S SAO|MEZ 7 - [5.64HTHRl + (X H S AHH[-1402 /)x 2 E]1x3 7| 'H4=(2.0) 0.0000%
T SEZHELLE 228,815 (RH 2 H] + X i + A= Z4H])x 0.075%
U #AM7|ACo|ESacE 213,561 (RH2H] + X i + A= Z4H)x 0.070%
v P A 45,255,724
w A 355,694,430
X o HF @ a| H 19,563,193 A(W)2x 5.50%
Y 0| e 20,132,377 (= S H| + Z{H| + L EIEE|H])x 12.00%
z T. A B Z A -
Aa z 2 I} o 395,390,000
Ab 2 o7 7 KM 39,539,000 2271 of x 10.00%
Ac £ g 7t 434,929,000
Ad AN M e - |
. CIXAMA S B2 84,541,430 XoAALE, VATES
Ae ;f:l'i ASRMKE B2 55,687,800 |
A~ A 140,229,230
Af £ 2= A H| 575,158,230
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R e 3 &
25y L2
& It =X & It =X & Jt =X & It =X

u ZHIAMN 207,475,619 96,047,656 1,564,623 305,087,898
1.2H3A o 14,147,847 14,147,847 14,147,847 14,147,847
2.0l A S At 1,487,879 1,487,879 5,937,074 5,937,074 879,792 879,792 8,304,745 8,304,745
3. A THS A 32,032,027 32,032,027 9,231,479 9,231,479 63,063 63,063 41,326,569 41,326,569
4. LTS A 26,948,960 26,948,960 43,439,171 43,439,171 533,603 533,603 70,921,734 70,921,734
5 A& E S At 83,492,203 83,492,203 19,405,929 19,405,929 9,178 9,178 102,907,310 102,907,310
6. HEZ A 62,311,095 62,311,095 264,394 264,394 62,575,489 62,575,489
7.0tZ S At 69,632 69,632 3,154,830 3,154,830 3,224,462 3,224,462
8. 2= A 1,080,000 1,080,000 1,080,000 1,080,000
9.2t = XHH 2 BHd| 53,823 53,823 466,932 466,932 78,987 78,987 599,742 599,742
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=R L Bt
25y 42
=R & ot 2 o =R & ot 2
1LEHTA g 1 14,147,847 14,147,847
HOIZES H1.5*R5 1| = 11,096 11,096 11,096 11,096
HOIZES H2.5*R10 5| = 11,096 55,480 11,096 55,480
HOIsI SR H1.0*W0.6 13| = 11,096 144,248 11,096 144,248
HIDI/H L= H5.0*R30 1| = 70,168 70,168 70,168 70,168
HOI/=EILS H8.0*R25 1| = 70,168 70,168 70,168 70,168
HIDI/CH LR H8.0*R15 1| = 32,889 32,889 32,889 32,889
HIDI/CH LR H6.0*R15 1| = 32,889 32,889 32,889 32,889
HOI/BH S LR H3.5*R15 2| = 32,889 65,778 32,889 65,778
HOI/% LR H10*R100 1 = 235,406 235,406 235,406 235,406
HOI/% LR H8.0*B30 2| = 235,406 470,812 235,406 470,812
HOI/ U H7.0*R80 1 = 235,406 235,406 235,406 235,406
HOI/ LR H6.0*B10 1 = 32,889 32,889 32,889 32,889
HOl/S 8L H14.0*B60 1 = 152,787 152,787 152,787 152,787
HOl/S 8L H12.0*B50 1 = 152,787 152,787 152,787 152,787
HOlIS 8L H12.0*B30 5| = 97,707 488,535 97,707 488,535
HOIESE H9.0*R30 1 = 70,168 70,168 70,168 70,168
HIDI/Z AL 2t H2.5"R6 1 = 11,096 11,096 11,096 11,096
HOl/& 22 H3.5*R15 2| = 32,889 65,778 32,889 65,778
HOI/YE LR H3.5*R12 1| = 32,889 32,889 32,889 32,889
E DI HO.8*W0.8 1| = 11,096 11,096 11,096 11,096
HOl/sl 2R HO.6*W1.0 3| = 11,096 33,288 11,096 33,288
HOl/=Fs HO.4*W0.4 170 = 11,096 1,886,320 11,096 1,886,320
HOI/3 %= H0.4*W0.5 430 = 11,096 4,771,280 11,096 4,771,280
HID1/0H KL+ H2.5*R5 1| = 11,096 11,096 11,096 11,096
HOl/&22Cte H2.0*W5.0 16| = 11,096 177,536 11,096 177,536
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R e &
25y L2
=X & It =X =X 2 =X
I DIVESE= sl H0.8*W0.8 = 11,096 11,096 11,096 11,096
HIOIOHLER] H2.0 = 11,096 4,216,480 11,096 4,216,480
HD1/&0I H1.5*R10 = 11,096 33,288 11,096 33,288
HO/FISLSR H1.5*W0.4 = 11,096 33,288 11,096 33,288
HOI/SLISR H8.0*R30 = 11,096 11,096 11,096 11,096
HIOI/HLIS H3.5"R3 = 11,096 443,840 11,096 443,840
HOI/DA= H8.0*R25 = 32,889 32,889 32,889 32,889
HOUDAS H6.5*R15 = 32,889 32,889 32,889 32,889
HOI/DAS H2.5*R10 > 11,096 11,096 11,096 11,096
>4 14,147,847 14,147,847
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M E b e =
z2zg 8 Hl 22
& ot 2 o e ot 2o 2 o e ot 3 o
2.0 Al B A 1,487,879 5,937,074 879,792 8,304,745 = X| 2/ 0] &1
Ol&/ZF== H2.5*R10 = 26,098 26,098 82,712 82,712 13,156 121,966 121,966
Ol& /AU H4.0"R15 = 36,809 36,809 148,104 148,104 17,073 201,986 201,986
Ol&/ AU H2.5"R15 = 36,809 73,618 148,104 296,208 34,146 201,986 403,972
Ol& /=L S H6.0*R15 = 36,809 36,809 148,104 148,104 17,073 201,986 201,986
Ol& /AU H9.0*R20 = 52,504 52,504 211,247 211,247 34,321 298,072 298,072
Ol& /AL H8.0*R20 = 52,504 315,024 211,247 1,267,482 205,926 298,072 1,788,432
Ol& /AU H4.0*R20 = 52,504 52,504 211,247 211,247 34,321 298,072 298,072
OIM/EEHE H2.0"R4 = 2,350 2,350 40,008 40,008 38 42,396 42,396
OlM/EEHE H2.5*R10 = 26,098 26,098 84,091 84,091 13,156 123,345 123,345
Ol &/bt == H3.5*R15 = 36,809 36,809 149,484 149,484 17,073 203,366 203,366
ola/2ditte H6.0*R15 = 36,809 147,236 149,484 597,936 68,292 203,366 813,464
OlAl/Z U H7.0*R20 = 52,504 52,504 212,627 212,627 34,321 299,452 299,452
OISR H6.0*R25 = 72,165 72,165 290,300 290,300 45,573 408,038 408,038
OlA/Z U H6.0*R25 = 72,165 72,165 290,300 290,300 45,573 408,038 408,038
OlA/=EILS H8.0*R25 = 72,165 144,330 290,300 580,600 91,146 408,038 816,076
olal/=d H10.0*R25 = 72,165 72,165 290,300 290,300 45,573 408,038 408,038
OlM/E3EHE H9.0*R25 = 72,165 144,330 290,300 580,600 91,146 408,038 816,076
OlAl/=EILHR H16.0"R55 = 72,165 72,165 290,300 290,300 45,573 408,038 408,038
Ol&al/3l = H1.5*"W1.5 = 26,098 52,196 82,712 165,424 26,312 121,966 243,932
> 1,487,879 5,937,074 879,792 8,304,745
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M2 2l 3 g
253 +& £ bl 2
& It 3o & I} 3 o & ot 3o e I} =X
3.ATHS A 1 A 32,032,027 9,231,479 63,063 41,326,569
HF= H1.5*"W0.8 12| = 153,360 1,840,320 19,410 232,920 172,770 2,073,240
2HUSL H5.0"B18 9| =+ 713,468 6,421,212 78,270 704,430 7,007 63,063 798,745 7,188,705
=L H2.5"R6 5| = 74,260 371,300 33,827 169,135 108,087 540,435
S H2.5"R8 22| = 147,180 3,237,960 52,620 1,157,640 199,800 4,395,600
=HS H2.5"R8 1 = 242,470 242,470 52,620 52,620 295,090 295,090
BHEL S H2.5"R8 9| =+ 277,190 2,494,710 52,620 473,580 329,810 2,968,290
CIRRES HO0.3*W0.3 850 = 4,010 3,408,500 1,779 1,512,150 5,789 4,920,650
OH KtLHS HO0.6*W0.4 410 = 7,450 3,054,500 1,779 729,390 9,229 3,783,890
PR HO0.3*W0.3 400 = 1,470 588,000 1,779 711,600 3,249 1,299,600
Fas H0.3*W0.3 780 2,160 1,684,800 1,779 1,387,620 3,939 3,072,420
*=Sx 8cm 2100 = 2,540 5,334,000 286 600,600 2,826 5,934,600
& 2l 297.53| M2 3,520 1,047,305 3,673 1,092,827 7,193 2,140,132
g HO0.8*2Jt X 5| =+ 5,110 25,550 7,707 38,535 12,817 64,085
EEE HO.5 5| =+ 10,700 53,500 4,486 22,430 15,186 75,930
e H1.0 7| = 37,700 263,900 4,486 31,402 42,186 295,302
ABHIZE 10cm 900| = 1,840 1,656,000 286 257,400 2,126 1,913,400
Eglet 8cm 200| = 1,540 308,000 286 57,200 1,826 365,200
> A 32,032,027 9,231,479 63,063 41,326,569
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R e 3 &
72 2z | o9
=X & ot =X =X & ot =X
4. ZFIA 1| 4 26,948,960 43,439,171 533,603 70,921,734
HEHIEEH S(GHE £2100) THK60 230*114 358.77| M2 8,817 3,163,275 2,880 1,033,257 201 72,112 11,898 4,268,644
AHEHY THK60 230*114 521 M2 11,745 6,119,145 3,309 1,723,989 284 147,964 15,338 7,991,098
HEHY THK60 230*114 249.58( M2 2,960 738,756 2,022 504,650 101 25,207 5,083 1,268,613
St A H THK30 300x300 235.7| M2 10,574 2,492,291 84,277 19,864,088 215 50,675 95,066 22,407,054
ESPAES ==~ THK60 300x300 53| MM 11,317 599,801 2,880 152,640 201 10,653 14,398 763,094
S EE( THK300 7.93| M3 25,300 200,629 15,851 125,698 41,151 326,327
DREEE THK75 245.82( M2
StAAE 200%250*1000 504 M 21,202 1,068,580 7,098 357,739 569 28,677 28,869 1,454,996
STS EDGE THKS 100*100 276.59( M 31,738 8,778,413 22,780 6,300,720 "7 198,315 55,235 15,277,448
SIASE THK50 W300,L1000 2649 M 14,300 3,788,070 50,496 13,376,390 64,796 17,164,460
>0 26,948,960 43,439,171 533,603 70,921,734
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R e 3 &
25y 72 L2
& It =X & It =X =X & It =X

5N 4 EZA 1 83,492,203 19,405,929 102,907,310
SMOA(1F,2F) - 152.21 26,502 4,033,869 72,170 10,984,995 34 98,706 15,024,039
SMOI=A(5F) - 114.39 27,042 3,093,334 73,616 8,420,934 35 100,693 11,518,271
OrelEIOIZS & 21Xt 900*900,H720 / 590*510,H830 3 2,240,000 6,720,000 2,240,000 6,720,000
ot IetA 9000*2000*H2600 1 15,000,000 15,000,000 15,000,000 15,000,000
otietB 15070*5300*H2600 1 37,000,000 37,000,000 37,000,000 37,000,000
OlsEEHIX 1570*460*H420 19 490,000 9,310,000 490,000 9,310,000
+==2E2SEH 1270*1270 9 575,000 5,175,000 575,000 5,175,000
KHE O 1 I CH 3720*600*H650 1 1,700,000 1,700,000 1,700,000 1,700,000
Helold s H1500 1 1,460,000 1,460,000 1,460,000 1,460,000
>0 83,492,203 19,405,929 102,907,310
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R e &
25y 2z | e
& It =X & It =X =X & It =X

6. HEZAt 1 & 62,311,095 264,394 62,575,489
SEE THK200 290.57| M2 61,945 17,999,358 61,945 17,999,358
SgE THK300 109.68| M2 71,080 7,796,054 71,080 7,796,054
SgE THK800 290.47( M2 116,753 33,913,243 116,753 33,913,243
OIMEEH THK300 16.68( M3 33,000 550,440 15,851 264,394 48,851 814,834
37 300*300*300 9 M4 228,000 2,052,000 228,000 2,052,000
> 62,311,095 264,394 62,575,489
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R 2 23 4l g
2zy 72 2z | o9
& ot =X & ot =X & ot =X & ot =X
7.0t2 3 A 1 & 69,632 3,154,830 3,224,462
ATH 2 B (2F) 16.45( M 4,233 69,632 191,783 3,154,830 196,016 3,224,462
> 69,632 3,154,830 3,224,462
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R 2 23 4l g
2zy 72 2z | o9
& ot =X & ot =X & ot =X & ot =X
8.2t =T At 1| 4 1,080,000 1,080,000
QcgeE 6| M 100,000 600,000 100,000 600,000
QCcYesE Es8A 6 JHA 80,000 480,000 80,000 480,000
> 1,080,000 1,080,000
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R 2 g
2zy 2z | o9
& ot =X & =X =X & ot =X
9.2t = KHH 2 BHHI 1 & 53,823 466,932 78,987 599,742
A BIE 28| EXZ8E L:7km 699 i 77 53,823 668 466,932 78,987 858 599,742
> 53,823 466,932 78,987 599,742




